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Thursday April 14, 2011
answers pg 358 #3cd,4,7bc,8,9
Quiz

Warm ­Up
If  it takes Ashley 3 s to run from the batters box to first base at an average speed 
(velocity) of  6.5m/s, what is the distance she covers in that time?

d = vt
   = (6.5m/s) (3s)
   = 19.5 m 
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3. 

Mary travelled 7.6km

d)   d = 25km
      v = 5.2km/h
       t= ?  

t = d      =     25km         = 4.8h
      v          5.2km/h

The hiker would take 4.8h

Pg 358 #3cd,4,7bc,8,9

4. v = 90.0 km/h d = vt
    t = 2.50 h        = (90.0km/h)(2.50h)

   = 225km
The distance travelled by the car is 225 km
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7b.  v= 85.4 km/h
        d = 6670 km
         t = ?

t = d     = 6670km        = 78.1 h
     v         85.4km/h

It would take the Orbiter 78.1 h to cross the 
Atlantic ocean.  

The balloon travelled 3.8 x 103 km.  
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8.a) d = 604 m  t = d
    v = 341 m/s      v

t = 604m
     341m/s

t = 1.77 s

    b) 341 m/s x 3.6 = 1.23 x 103 km/h
9. v = 5.0 m/s
    v = 4.5 m/s
subtract the two velocity's
     5.0m/s   ­ 4.5m/s    = 0.5m/s
     t = 10min

convert min to seconds
      10 min     x       60sec   = 600 s 

 1min 

d = vt
    = (0.5m/s) (600s)
    = 300 m    or 3.0 x 102 m

The distance between the runners after 
10min is 300m.  
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Quiz



6

Distance­ Time Graphs
shows the relationship between distance and time.  

distance is plotted on the y axis and is the dependent variable

time is plotted on the x axis and is the independent variable 

showing a moving object
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. Calculate the average speed for the men and the average speed for the women when they each set the
Canadian records for the following races. State each answer with the correct certainty and units.
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2. According to the calculations in question 1, who is the fastest person in Canada?
Convert the record setting speed to the value in kilometres per hour.
Fossvesy RIS STEN

v~ Cemados s {\1\(3’\3} o Enalimer
T Y3 ekm = 25 Z2ken
- -









images/clipboard(2).png

Blackline Master 9.5b

Average Speed: Exercise 1








settings.xml

 






imsmanifest.xml

   ADL SCORM CAM 1.3 metadata.xml    Group 1               






metadata.xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=0B386B82-8BF0-4241-A25A-2066FC84A688  ﻿  ﻿  ﻿  application/x-smarttech-notebook    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2009-09-15T12:17:12  1.0  LOMv1.0 final






preview.png

|








page0.svg

  Sep 15-12:17 PM         Bruny Surin and Donovan Bailey are the fastest people in Canada    10m/s x 3.6 = 36 km/h    correct S.D. 40km/h 




SMART Notebook


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Attachments Page 1

